7 = Al e AR 8 AT B AR BRI 5 5 D B AR IR

H23. 3. 31
1 NMEZANBUIESR FREEZAR—L)
X 4 |0FE BEEREE (FA4HEEHEHM) caas| RAHEHIE
FC | NEE|[2FEE|[8FE] = U 3EERER
g 700 20 20 720
Z @ 180 60 60 240
NI ] 300 0 300
Z W 320 100 100 420
mE ™ 280 0 280
M 31 h 150 0 150 2,563
=S E 100 0 100
— f W 0 0 0
= B F 63 0 63
% T AT 80 0 80
= @ Hr 170 0 170
£t 20 0 160 2,523 £ Bl B %
“ ® 8 2,383 2,363 2,363] 2 523 180 (08 4) 40
2% #h 5t | 26EER 2MEE%|  2MEER| 28fEE%

BRFEIIIZEEIFEETERE (EEHTHICO20WTIE, FRUFEEIFE)

2 NEENREREK

~ o |NFE[BENE FARFENEWE) .. RNB&E
¥ C (0 GE|DEE|BEE] A% (D3 B mE)
[ % H 696 0] 696
E ¥ m 152 0 152
M By T 240 0] 240
Z W™ 310 0 310
mE T 320 100 100 420
M 3L th 95 5 5 100 2,248
5 & 100 o 100
— & 167 0 167
= B 0 0 0
% o i 0 0 0
= [ HT 0 0 0
it 0 100 5 2,185 & 5| & #
ez B 2% 2o 28] 218 % ©L29 63
B 2R e a2
B A ISR LA E CRE
3 NEEBVERME
= o, |NEE[BENE ZARFENEWE) .. [RNB&E
* C (0 GE|DEE|BEE] A% (D3 B EE)
[ % H 167 0] 167
E ¥ m 107 0 107
M By T 0 0 0
% W 0 0 0
mE T 67 A12 A12 55
M 31 0 0 0 0
= & 0 0 0
— & 128 0 128
= B 0 0 0
% o i 0 0 0
= [ HT 0 0 0
B PR ENY, 0 I EERY
ff\%_ﬁE E_ _ 4?7 457 457 _ A 457
DB ORE AR N




4 NEERMERERZIARBELEENE

X 4 |NFE[EBEHE FAREXHNBHME) (o o RHEEHE
F T |(NEE(REE[NFEE] i S| FEEBRR
M s T 0 0 0
E@Emh 0 0 0
U] 0 0 0
- il 0 0 0
BE 40 0 40
A 0 0 0 70
=S E 0 0 0
— f W 0 0 0
=N 0 0 0
% = ET 0 0 0
= @ AT 0 30 30 30
£t 30 0 0 0l £ 51 % %
@ = B 40 70 70 70 301 (1000 0
i 158 5% 1585% 18R 2%

5 EEENERKABREETNE

% 5 |NEEESHE Gamsxsmam | o JRHABHE
¥ T DIEE[NEE|BEE] Gl GAET T £
[FAI ] 192 6 16 89 274
=@ 0 0 3
N B 08 0 58
% W 0 0 0
E 0 0 0
L A 21 0 21 470
5 E 21 35 35 56
= B H 0 0 0
% T BT 0 0 0
= [ A 0 20 20 20
&t 41 96 0 469 & 21 B
%= B s ago]  ag0|  °!| (9.8 1
M ER BBt 1IMeER|  1MESR| SR ez 15mE

EBIHEFHESR
BERAEIXIEELFE TEE




